
Math 002-04,  Quiz 3   (6.3 and 6.4), Term 142  , Instructor: Sayed Omar  Page 1     14-Mar-15 

Math 002-04,  Quiz 3   (6.3 and 6.4), Term 142  , Instructor: Sayed Omar  Page 1     14-Mar-15 
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Show all necessary steps for full marks. 
 
Q1. (4 points)(6.3Additional Exercise # 14):  

If ( ) sin ,  0f x a bx b= > , is a sine function with period 4 and (1) 2f = , then find 2 ?
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Q2. (6 points) (6.3 Additional Exercise 5) (a):  Graph 2( ) 2sin

3
f x x⎛ ⎞= −⎜ ⎟

⎝ ⎠
where  [ ]3 ,3x π π∈ −  

(b): Determine the intervals where the function is increasing. 
(c):  Determine the intervals where the function is decreasing. 
Solution: 
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Q3. (2 points) If the rang of the function 2 , 5

3
( ) sin( ) is f x d a bx c ⎡ ⎤

⎢ ⎥⎣ ⎦
= + + , find the amplitude.   
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Q4. (8 points):  

(a):  Sketch the graph of   [ ]1 22cos 2 ,  2 ,8
3 3

y x xπ π π⎛ ⎞= − + ∈⎜ ⎟
⎝ ⎠

 

(b):  Determine the interval where the function is increasing. 
(c):  Determine the interval where the function is decreasing. 
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(b): The function is increasing on [ ]5 ,8π π  
(c):  The function is decreasing on [ ]2 ,5π π  
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